When you have completed this worksheet please place it in your portfolio.

For each of the following crosses draw a punnett square and write the genotypic and phenotypic ratios.

 Seed coat shape Round (R) Wrinkled (r) Pod color Green (G) Yellow (g) Height Tall (T) Short (t)
a. Cross two heterozygous green plants 

b. Cross a heterozygous green plant with a homozygous green plant

c. Cross a homozygous tall plant with a short plant

In mice the ability to run normally is a dominant trait. Mice with this trait are called running mice (R), the recessive trait causes mice to run in circles only. Mice with this trait are called waltzing mice (r) . Hair color is also inherited in mice. Black hair (B) is dominant over brown hair (b).

 For each of the following

I. Show the genotypes of the parents 

II. II. Show the possible gametes produced by the parents

III.  III. Draw the punnett square 

IV. IV. Give the phenotypic and genotype ratios of the resultant offspring. 

a) Cross a heterozygous running, heterozygous black mouse with a homozygous running, homozygous black mouse. 


b) Cross a homozygous running homozygous black mouse with a heterozygous running, brown mouse. 


c) Cross a waltzing , brown mouse with a waltzing brown mouse 


d) Cross a homozygous running, heterozygous black mouse with a waltzing brown mouse. 


e) Cross a heterozygous running, brown mouse with a heterozygous running, homozygous black mouse. 


f) Cross a heterozygous running, heterozygous black mouse with a heterozygous running, heterozygous black mouse.

